
YAMATO 

4-1 

Mounting Procedure of FO Air Exhausting Device 

1. Take out the ceramic plug of exhaust port at the upside of equipment. 

 

 

 

 

 

 

 

 

 

 

2. Put the air exhausting device on the equipment, corresponding to threaded 

holes. 

 

 

 

 

 

 

 

 

 

 

3. Fix the air exhausting device. 

 

 

 

 

 

 

 

 

Threaded holes 

Fixed by 4-M4X8 pan head 

screws (with flat and spring 

washer) 



YAMATO 

4-2 

 

 

 

 

 

 

 

 

 

 

 

4. Wiring 

 

 

 

 

 

 

 

 

 

 

 

Before fixing left-rear screw, put 

internal tooth washer to ground 

between the main unit and air 

exhausting device, and then 

tighten the screw. 

 

a. Disassemble the underside electric 

backboard; 

b. According to the wire marking of 

accessory wire harnesses, insert 

into corresponding terminal blocks; 

c. Confirm the wiring is correct and 

firm, and then mount the electric 

backboard. 



YAMATO 

4-3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Connect the outgoing lines of 

equipment and air exhausting 

device. 

Disassemble the original screws, and 

use accessory 2-M4X8 big flat head 

screws to fix the cable clips. Do not 

screw tightly too much.  



YAMATO 

4-4 

5. Complete assembly. 

 

 

 

 

 

 

 

 

 

 

 

 

Notice: when completing assembly, if the equipment is power-on, the air exhausting device will run at 

once. If not use the air exhausting device, please pull out the wiring of step 4, and take the exhausting 

device away from the equipment. 

Parts detail list 

NO. Name Qty. 

1 Air exhausting device 1 

2 Cross-head double washers screw M4X8 4 

3 Internal tooth washer Φ4 1 

4 Big flat head screw M4X8 (attached when separately delivering the air 

exhausting device)  

2 

5 Cable clip (attached when separately delivering the air exhausting device) 2 

6 Wire harness (attached when separately delivering the air exhausting device) 1 

7 Mounting procedure 1 

Notice: Part 4, 5 and 6 have already been assembled at FO main unit, and the big flat head screw, cable 

clip and wire harness are attached only when separately delivering the air exhausting device.  

Lead out the wire harness of 

air exhausting device here 


